



由 8.

$$x^{\frac{2}{3}} + y^{\frac{2}{3}} = a^{\frac{2}{3}}$$

$$\frac{2}{3}x^{-\frac{1}{3}} + \frac{2}{3}y^{-\frac{1}{3}} \frac{dy}{dx} = 0$$

$$\frac{dy}{dx} = -\frac{2}{3\sqrt[3]{x}} \bigg/ \frac{2}{3\sqrt[3]{y}}$$

$$= -\frac{\sqrt[3]{y}}{\sqrt[3]{x}}$$

接線の方程式

$$Y - y = -\frac{\sqrt[3]{y}}{\sqrt[3]{x}}(X - x)$$

$$\left. \begin{aligned} Y=0 \text{ のとき } & -y = -\frac{\sqrt[3]{y}}{\sqrt[3]{x}}(X-x) \quad -\sqrt[3]{x} \cdot y = \sqrt[3]{y} X + \sqrt[3]{y} \cdot x \\ X_1 &= +\frac{1}{\sqrt[3]{y}}(x\sqrt[3]{y} + \sqrt[3]{x} \cdot y) = x + \sqrt[3]{\frac{x}{y}} \cdot y \end{aligned} \right\}$$

$$X=0 \text{ のとき } Y - y = +\frac{\sqrt[3]{y}}{\sqrt[3]{x}} X \quad Y_1 = y + \sqrt[3]{\frac{y}{x}} X$$

この2つの
定理

$$\begin{aligned} X_1^2 + Y_1^2 &= x^2 + \left(\sqrt[3]{\frac{x}{y}}\right)^2 y^2 + 2xy\sqrt[3]{\frac{x}{y}} + y^2 + \left(\sqrt[3]{\frac{y}{x}}\right)^2 x^2 + 2xy\sqrt[3]{\frac{y}{x}} \\ &= \left(1 + \left(\sqrt[3]{\frac{x}{y}}\right)^2\right) x^2 + \left(1 + \left(\sqrt[3]{\frac{y}{x}}\right)^2\right) y^2 + 2xy\left(\sqrt[3]{\frac{x}{y}} + \sqrt[3]{\frac{y}{x}}\right) \\ &= \left(1 + \frac{y^{\frac{2}{3}}}{x^{\frac{2}{3}}}\right) x^2 + \left(1 + \frac{x^{\frac{2}{3}}}{y^{\frac{2}{3}}}\right) y^2 + 2xy\left(\frac{x^{\frac{1}{3}}}{y^{\frac{1}{3}}} + \frac{y^{\frac{1}{3}}}{x^{\frac{1}{3}}}\right) \\ &= \frac{1}{x^{\frac{2}{3}}} \cdot a^{\frac{2}{3}} \cdot x^2 + \frac{1}{y^{\frac{2}{3}}} \cdot a^{\frac{2}{3}} \cdot y^2 + 2xy\left(\frac{x^{\frac{1}{3}}}{y^{\frac{1}{3}}} + \frac{y^{\frac{1}{3}}}{x^{\frac{1}{3}}}\right) \\ &= a^{\frac{2}{3}} x^{\frac{2}{3}} \cdot x^{\frac{4}{3}} + a^{\frac{2}{3}} y^{\frac{2}{3}} \cdot y^{\frac{4}{3}} + a^{\frac{2}{3}} \cdot 2x^{\frac{2}{3}} y^{\frac{2}{3}} = a^{\frac{2}{3}} \\ &= a^{\frac{2}{3}} \left(x^{\frac{4}{3}} + 2x^{\frac{2}{3}} y^{\frac{2}{3}} + y^{\frac{4}{3}}\right) = a^{\frac{2}{3}} \left(x^{\frac{2}{3}} + y^{\frac{2}{3}}\right)^2 = a^2 \end{aligned}$$

x軸とy軸に交わる長は a